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Tn haemoglobin, iron shows which one
of the following oxidation states ?

(a) 2+
(b) 3+
(e) 1+
(d) 4+

[sotopes are atoms of the same
element with different number of

(a) Protons

(b) Electrons

(e} Neutrons

(d) Positrons

Cleansing action of soap ©CCUIS
because

(a) Oil and grease can be u\hsurhed
into the hydrophobic centres of
soap micelles and washed away.

(b) Oil and grease can be absorbed
into the hydrophilic centres of | .

1.

3.

soap micelles and washed away.

(¢) 0il
absorbed into both

and hydrophobic centres bntillﬂ; | »

washed away.
(d) Cleansing action is not re’latﬁ-

micelles. 5

‘Jaya' and ‘Ratna’, developed for green
revolution in India are the varieties. o ”
-

(a) Rice
(b) Wheat
(’EJ Bﬂlm
(d) Pulses

and grease can 'ﬁ

fiersfs few & Jo fodr 9
faasht wrafiEEs e @eg e I ?

(a) 2+

(b) 3+

(e} 1+

(d) 4+

wiretEey 88 33 (element) v 8

g2 T |

(a) f@ﬁ'

by feBaedaw

(c) BHEIH

() feedsd

o= feg meret fafer 35 Tafof

f=F fgS 9 =99 et 9 ?

@ Ts w3 ofm FEE HEHISH
o gdtzdefag dwa few 7wy
33 43 e B |

b 35 w3 dftn wES HEHEE
3 gétsafefsa deat feu 799

I AR B |
(c) %Sméaﬁﬂafﬂaaéﬁa’w@

ﬁa)mﬁﬂa%aﬁuaﬂ?
&t 7 wae |
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Who among the following described
democracy as the tyranny of the
majority ?

(a) J. Rousseau

(b) Alexis de Tocqueville

{¢) John Dunning

(d) James Madison

The organ of human body which
collects carbohydrates in the form of
glycogen is

(a) Intestine

(b) Stomach

(¢} Pancreas

(d) Liver

The working of optical fibre cable is
based on the principle of

{a) Total internal reflection

(b) Polarisation

(¢) Diffraction

(d) Interference

X-rays do not show the phenomenon of
(a) Diffraction

(b) Polarisation

(¢) Deflection by electric field
(d) Interference

1H3 and EHE4 are

fa) Nuclear isomers
(b) lscotones

(¢) Isodiaphers

(d) Isobars

6.

7.

(A-3)

Js fefinr o8 fams Baaw &

=9es aofon fefimr § fa B9

TgH3 T wfIwae T ?

(a) H. gH

) wdafrm #t 2fa8fed

c) H® Ffaar

(d) THE HEHS

Wt wde = fagm  wfd

Foggdizde § I@TEEAs €

feg myf ge=r 3 2

(a) ™3 (intestine)

(h) HIT (stomach)

(¢) U™Sd (pancreas)

(d) fAEg (iver)

wrudtas geteg 39 fagd fruiz 3

aH gt 3 2

(a) WYGE Egsl UT=dSS (total
internal reflection)

(h) USTHHS (polarisation)

(¢) fe=g3<T (diffraction)

(d) Tews (interference)

wen 3w 95 fodte fed fagdt

afifeft 5t san@e ?

(a) fe=g3e iffraction)

(b) UBTHHHES (polarisation)

) fagft &z T w3 T
(deflection by electric field)

(d) fEws (interference)

1Ha e 2He4 ot T8 7

(a) faQadtnia niretiHg

(b) WTETHSS

(c) WEASfTonEe

(d) WEREg
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10. A block of weight 1 N is moving with

11.

12.

an acceleration of 1 m/s?. The force on
the block is

(a) 1IN

() 98N
1
=N

(c) 58

(d) 49N

Which printer uses a combination of
laser beam and electrophotographic
techniques ?

(a) Laser printer
(b) Dot-matrix printer
(e} Line-printer

(d) None of the above

The electronic econfiguration of an
atom is 152, 2s°, 2p°. The number of
unpaired electrons in this atom are

(a) 1
(b 0
(e) 3

(d) &

SCS-1 (A

10.

11.

12,

i}

feg 39 =Ag faw = 39 1N 3,
1 m/s? & 9 U (acceleration) 58
¥% adt § | 8w €3 fIdT madt ga
aft & 2
(a) 1N
(b) 98N

1

(e} ——9;3 N

(d) 49N

5 i fleat o8 faom fles 8w
fh »3 feBaegacafes 3@
% yoar F9eT 9 2

(a) gﬁﬁﬁkﬁ

b) STe-frefoan fifew

(¢ wds fiem
@ fegt f&9 ot &t

feg wg = fedaedfea AHIY
(electronic configuration) 182, 2s%, 2p°
31 fem v feu fomt 0% @B
(unpaired) fd& feBaeds 76 2

(a) 1

b 0

(e) 3

@ 5




13.

14.

15.

Which property of water makes it a
good solvent 7

(a) High beiling point

(b} High dipole moment

(e) High specific heat

(d) High specific gravity

Consider the following statements :
1. Radon is the heaviest gas.

2. Astatine is a rarer element on
Earth.

3. Graphite is an allotrope of
carbon.

Which among the above statement(s)
is/are correct ?

(a) 1and2

(b) land3

(¢) Only3

(d) All of them

Which of the following ecosystem
types has the highest annual net

primary productivity ?

(a) Tropical deciduous forests
(b) Tropical rain forests

(¢) Temperate deciduous forests

(d) Temperate evergreen forests

SCS-1 (A

13.

14.

15.

-5

ud & faodt femwmzr GRg &9
oftorr W8 TF TH IR SE Ol
32

a) 97 Buse 3IUHSE (high
boiling point)

(b) €9 IS AHZ (high dipole
moment)

@ &5t winfifes die  (high
specific heat)

@ €<t nififes adfedt (high
specific gravity)

3 ik qmst & fearfanr 72 -

1. SEEFE I TG AR |
2. wweedls ugdt €73 we wIT
feg wienr 7= @5 33 T |

3. gggde g9gs o fegm
wWEIaY T |

Sug fef fed faog/fags aEs

wdt a5 2

(a) 1M 2

(b) 1M3 3

(¢) fHIE 3

(d) Gus fod vd

fes§ w9 ¥ Su was WHS YEiHE

@3u=a3™  (annual net primary

productivity) fam <t ?j‘tﬂ I

(a) ZOUtE® g’Fﬂ@W IS (tropical
deciduous forest)

by ehflgs I ATS (tropical rain

forest)

(c) 2uge IHIZWMH HdS (temperate

deciduous forest)
d) 2ude L ERRIGI CEIE
(temperate evergreen forest)



16.

17.

Which of the following are incorrectly
matched ?

1. Basel — Biodiversity
Convention Conservation

2. Montreal — Global Warming
Protocol

3. Kyoto — Climate Change
Protocol

4. Ramsar — QGroundwater
Convention Pollution

(a) 1,2and3

{(b) land4

(e) 3and4

(d) 1, 2and4

The targets for the first commitment
period of the Kyoto Protocol cover
emissions of the six main greenhouse
gases. Which of the following gas is
not one of these 7

(a) Carbon tetrachloride (CTC)
(b) Hydrofluorocarbons (HFCs)
(¢) Perfluorocarbons (PFCs)

(d) Sulphur hexafluoride (SF )

18. Choose the correct match :
(a) Corbett —~ Madhya
Pradesh
(b) Darra — Rajasthan
(¢) Perambakulam - Karnataka
(d) Bandipur ~ Tamil Nadu
SCS-1

16.

17.

18.

(A-6)

1. =HB - fRHITS
RHSE (biodiversity
conservation)
9. Hzdm®s - J8E8 3R
Yo (global warming)
3., dq@e - Wt gEm=
{29 (climate change)
4. IHAG - wEt uE
HHES o ygHS
(groundwater
pollution)
(a) 1,203 3
(b) 1M3 4
(¢) 33 4
(d) 1,23 4
o2 Jeas © ufad yfsfamr s
& faws 8 yuy 99s T8N il

fsay Hudt mE | I ferdbet ST
wfus & ?

(a) STHS 22T FBIEIS (CTC)
(b) TEIZT eBa dd¥eH (HFCs)
(¢) UISBI I9HEH (PFCs)

(d) WSET ITHBBIEIS (SFy)

(a) FIEE — WO yEew
(b) =37 -  JWHRES
¢ tggasy - ddaed
(d) giud - sfusss




19. Which of the following is a native
gpecies of India 7

{a) Two-horned rhinoceros
(b) Rhesus monkey
(¢) Komodo dragon

{d) None of the above

20. High Biological
(BOD) indicates

Oxygen Demand

(a) High level of Microbial Pollution
(b) Low level of Microbial Pollution
{c) Absence of Microbial Pollution

id) None of the above

21, Which one of the following is not
correctly matched ?
(a) Sociological — G. Catlin
approach
(b) Philosophical — Leo Strauss
approach
(c) Historical - John Rawls
approach
(d) Integrated - CarlJ, Friedrich
approach
SCS-1

19. I3 fodnr Qu-adhr fed faodt

20.

21.

u:.iﬂ;.i— i

93 & HEaa Su-wdft I 7
(a) & fHar =& 33 (two-horned

rhinoceros)
(b) dHA 729 (rhesus monkey)
(c) THE SIT5 (komodo dragon)
@ fegt feg Fet st

gegdftas wadftas vz =
fanmer S fom 25 Has d997 4 2

(a) =g ygue = €9 Uue

by g ygwe ¥ et uug

(e ez ygre &t Se-Hgedt
(@ feat &9 5t &df

g5 fefint fed fags v= vt a9
s
(a) AH-fefamrs - 1. Sefes

T8l fegaaar
(Sociological
approach)

(bl BBHE THI
fegragraT
lfPhﬂusnphica]
approach)

() fefzawa
fegraurg
(Historical
approach)

(d Hwa3 - FEE 1.
fegagrar ECREICES
(Integrated
approach)

_ € AeTH

— H& IWEH



Who described the “Government of
India Act, 1935” as a "new charter of
bondage™ ?

(a) Mahatma Gandhi
(b) Sardar Patel
(¢) Jawaharlal Nehru

(d) Rajendra Prasad

Who among the following theorists
advocated participatory democracy 7

{a) F.A Hayek
(b} C.B. Macpherson
(e) Michael Oakeshott

(d) Gaetano Mosca

“The duty of an opposition is to
propose nothing, to oppose everything
and to turn out the Government.” Who

said this ?
(a) Sir Ivor Jennings
(h) George Tierney

{e) Lord Bryce

(d) AL. Lowell

09, “Fregaite e fesr wae 1935”7
% ‘wiftszr = fed aet wifgmrfe”
o &8 fagr fom ?

(@) WITSHT ardt
(b) WITE UCH
(©) FEIIES a3
() dfied yFe

-
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List 1

A, 93" Amendment 1.

ﬁ 97" Amendment 2.

(s Zgﬁ‘_.&meﬁﬂment 3.

D. 26™ Amendment 4.

= n e
B W = N 0
LR O I |

26. Which of these

25, Match List 1 and List 2 and select the

List 2

Parliament's

power to
amend

Fundamental
Rights

Abolition of
special
privileges

of Princely
states, titles
and pensions

Reservation
for OBCs in
unaided

edueational
institutions

New
Cooperative
Act

constitutional

amendments does neof pertain to
addition of more languages in the

8'" Schedule 7

ta) 21% Amendment
(b) 71% Amendment
(e) 92" Amendment
(d) 29" amendment

'§Cs-1

tA =

"t FEE 9E

25. FSt 1 w3 Pt 2 ¥ HE wEe JE 1

FaT 1 o7 2
A 93T 1. Wisa wfogaat
t Ao &t 393
B.97T¥ 2. WA ghaw €
HATS ferm wifaaa,
=7 HTSHT
C. 24T 3. fas™ Aaadt
b= =037 foree © 98
gt fefona
AAge fog 39
ot nt
(OBCs) B¢t
D. 26 & 4 & Higadl
FHUS e
AB CD
(@) 1 3 2 4
b 3 4 1 2
cr ¢ 2 3 1
@ 3 1 2 4

26. I foy Afeuss diaus’ &9 faosr
fiTs wed wiEls fev 9 adht
zrl= dedt & 30
(a) 21 T HAUS
() 71 F HEUS
(¢ 92 € HAUS
(d) 29 T HAUG

9)




29.
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which afﬂw following committees ?

g Committee 0R

1. Committee on Tribal mﬁ i

Excluded Areas

2. Committee on Minority Affairs .:I

4. Committee on Devolution
Power to the Union i |

(a) 1,2and3
(by 2,3and4
(¢) 4only

(d) 2and4only

The number of judges the |
International Court of Justice s

(a) 156

(b)) 10

(e 11
(d) 14

Which of the following is not a
financial  committee  of the

(a) Public Accounts Committee

(b) Estimates Committee
() Committee on Public Undertaking

(d) Joint (Mﬂ on Offices of

Profit

(A-10)
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80. Who among the following can attend
the meetings of both houses of
Parliament while not being a member
of either 7
(a) Solicitor General of India
(b) Vice-President of India
(¢) Comptroller and Auditor General

of India
{d) Attorney General of India

31. Which of the following States was the
first to establish Panchayati Raj
System in India ?

{a) Rajasthan

{b) Maharashtra
| (e) Punjab

{d) Bihar

32. Which Constitutional amendment
deleted the right to property from
Chapter III and made it a legal right
only ?

(a) 24" Amendment
(b) 39" Amendment
(e 42" Amendment
(d) 44" Amendment

33. Which of the following toilet and
cosmetic objects were not likely
known to Indus valley people ?

' (a) Bronze mirrors
(b} Ivory combs
(e} Antimony rods
(d) Hair dyes
SCS-1

31.

(A=11)

Iz fefim &8 d= ARE € AER

& de JF &t FARe ¥ 0 HES

Tt A fog owe § mEET T 7

(a) F9I T ASHT 7695

b F93 T Su THZIH

(¢) FI3 T IHIIBT W3 nidled
595

(d) TI3 T MITTH HA6IB

3 ufggt dofedt gw mEius

EiEy

(a) TAHES

(b) HITTHT

¢y YA

)y fao=

AAgs & Afeee € da § I

wfme f&9 gee 38 T8 I8a!

Ja g2 fegm 2

(a) 24 T HWAUS

(b) 39 T HEUB

(@) 42 T HAUS

(d) 44 T AHUS

& fednit fiere =aznt &5 faw

<Ry &t weadt fig wd 2 & §

3 o

(a) TH @ HIA (bronze mirrors)

b) THt g e Jufte (ivory
combs)

(¢} WEat dwt ZFht (Antimony
rods)

(d) TS § TS TH YTTY (hair
dves)




84. Consider the following Bhakti Saints: | 34.
1. Dadu Dayal
2, Guru Nanak
3. Tulsidas

Who among the above was/were
preaching when Lodi dynasty fell and
Babur took over ?

(a) land3
(b) 2only

(¢} 2and3
(d) land2

85. Which among the following apparently
impressed Jahangir to issue a Farman
in 1613 A.D. to the English to
establish a factory at Surat ?

35.

(a) Reconciliation between the
English and Portuguese.

(b) A secret offer of naval help to the
Mughal emperor to oust the
Portuguese.

¢y A heavy dose of bribe to
Nur Jahan,

(d) The defeat of Portuguese naval
squadrons by the English.

38. The only major industry in the hands | 386.
of Indian Capitalists during the late
nineteenth century was

(a) Cotton textile
(b) dJute

(¢) Iron and Steel
(d) None of these

5C5-1 (A= Bl

a5 fou ot sfis © A §
fegrfon w2

1, ©¢ for®
9. dg 38K
3. SOHEH

-5 #ft 28 = uss Jfeor w3

geg weng =fenr 3T Qus fou

st By & wet &S fage/fags

FraTHS HASE ?

(@) 1733

b fAdE 2

(c) 23 3
193 2

%%&aﬁ#ﬁﬂﬁﬂmaﬁ

qrtafts % 1613 B.31. feu wieaw §

mﬁ&mm@zwﬁwﬁr

s W@ F@s BY  yFfes

Ifenq 2

(@) wEEE w3 ygSarEgh feva
AHSSET |
Wﬁmaﬁm
SR § AHedl e 92
o yEhT yETE |

(© B3 A 3 FE S |

m:mmawm
g |

iy ST H |

(a) 'mi!’ﬂ"lﬁ’
by FE (ute)

(¢ BT w3 RES
@ fez 8 38 &

JE—



37. During the reign of which of the | 37.
following Mughal emperors was the
Gikh leader Banda Singh Bahadur
captured and executed ?

(a) Aurangzeb

(b) Bahadur Shah
(¢) Jahandar Shah
id) Farukhsiyar

38. Which one of the following is correctly 38.
matched ?

(a) Woods Dispatch — Primary
education

(b) Hunter Commission — Secondary
education

(¢) Raleigh Commission — University
education

(d) Sadler Commission - Rejection of
filtration
theory

39, Which is a valid generalization about
the immediate result of the French
Revolution of 1789 7

(a) The Roman Catholic Church
increased its power.

{(b) The Revolution established peace,
democracy and justice.

(¢) The Revolution had little impact
putside France.

(d) The French middle-class gained
more power.

SCS-1 ({A-13)

Iz fefiout &3 fan WIS ¥THT
T gw wH fe owrg der fAw
fapar 2

(a) nigaey

(b) HIES HI
(¢) AIET HI
(d) BIHHME

35 fofimi fod faog W8 AH T2
(@) =5 fortm - yERE

b deg afims - Fasd!
() It afuEs _ HarEaHd

d) Hsws atwms - fewcams
faGdt =
AL EIE

35 fofip gun fed foggr €8

1789 & za g T 33T

s = 7t FgedeEs I 2

@ I = Fafsa 999 & U@
I Ta BET |

® gt s s, B39 3 fanlt
& meus i |

(c) ﬁ?mému‘faaﬁ
wHg Jfenl™ |

(@) =aht ¥o 9o & 33 =@
et |




40.

41.
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The Russian peasants supported the
Bolsheviks in the 1917 Revolution
the Bolsheviks

mainly because

promised to
(a) Establish Collective farms.

(b) Maintain the
‘price-support system.

agricultural

(¢) Bring modern technology to
Russian farms.

(d) Redistribute the land owned by
the nobility.

Under the Government of India Aect,
1935, each of the following Provincial

Legislatures  consisted of two

chambers, except
(a) Assam

(b} Bihar

(e} Madras

(d) Punjab

Himachal Pradesh hosted the
Paragliding World-Cup from
23 October to 31 October, 2015 under
the aegis of Para-gliding World-Cup
Association in

(a) Kangra Valley

(b) Chamba Valley

(e) Spiti Valley

(d) Kullu Valley

41.

{A-14)

19017 &t gt i AH feme B

falfa dafi=at s emer iz #f fa

(a) FHfog Fau arfer €13 T |

m ¥ T st v ome T
frasfrsr At g3ar |

(© gt ®EEW fem  wiufex
caaBdt fentidt wreaft |

@ FHZ =@ e affst &
ya<s gt greaft |

Jr=gsie ng T8 wiae, 1935 ©
yeng feos West @ € AES
(chambers) H& |

(a) WHH

(b) fEgg

(¢) HEd™H

(d) UAH

93 WIZET 2015 I 31 WEATET 2015
35 foyes y=R 3 Ugemiisa
T8 FU MAHIERS o AOyASt I3
Tgifsar 298 ay & Hawal
wdt feg &t |
(a)
(b)
te)

{d)




43.

45.

SCS-1

The World Sparrow Day was observed
globally on 20 March, 2015 with the
theme

(a) Sparrow and People
(b) Ilove sparrows
(¢) Rise for sparrow

(d) Save sparrow

Which Search Engine launched
it's flight search tool in India on
13 January, 2015, that allows users to
find and compare airfares online and
book tickets directly ?

(a) Yahoo
(b) Google
(¢} Bing
(d) Ask

The ‘Best Tableau' award during
Republic Day Parade, 2015 was won
by

(a) Karnataka
(b) Maharashtra
(¢) Jharkhand
(d) Rajasthan

Name the National Park/Bird
Sanctuary that was shut down on
11 January, 2014 for one week after
47 migratory birds were found dead in
the park.

(a) Keoladeo National Park
(b) Bharatpur Bird Sanctuary
(¢) Salim Ali Bird Sanctuary
(d) Sultanpur National Park

43.

(A-15)

e ot feew 20 WEw 2015 §
¥ #rrg feg warfenr famrr | fe=n
= yHar H -

(a) AUS WF Yus

(b wret B2 AU

(e) Iy 89 AUS

(d) A< AUS

13m€r2ﬂ15$hﬂnﬁ?ﬁﬂ?%
wyz €975 378 AUG (flight search
tooh) ¥93 few w@ otz fam §
=93 3, =93 G5 TH, fizane
gff o=t neg © fage &9 HaET
3, Gost &t I8E F@ AR d M3
foge gy g HaE' J 7

(a) @Y

(b) IS

el féﬂT

(d) ™R

Jr=339 fo=m uds 2015 few We 3
‘Ggn Jy-gt’ & feerw fam 28
fifan famim 2

(a) FIEEH

(b) HITHIS

(e) 9IS

d) THHES

yFIard § 11%@3‘12014%1“83
=3 o e aq fosr famr 2

(a) aﬁs@ﬁwﬂzﬂﬁm
(b) FI3YT U UEIad

(c) WEH wEt ¥t ysTgerd
@ HSIEUT THeH! QU



47. National Youth Day. observed across 47.
India on 12 January cnm:nemnrates
the birth anniversary of which famous

Indian perﬂunahty ?

(a) Swaml Daymland Saraswatl

(b) SW ami Vivekan and
el Aumbindu Ghosh
(d) Rabindmnﬁth Tagore

Name the Space Telescope that on | 48.

g January, 2015 discovered the 1000
exoplanet in Constellation Lyra.

(a) Hubble

by Chandrasekhar
(¢) Kepler

() James Webb

49, The Tenth mﬁniﬁtnria'l Conference of 49.
the WTO will be held from 15 to 18

(c) Nairobi

(d) Singapor®

50. Debt-trap meansg

(a) More aid is needed to meet the

debt servicing requirements.

(by More debt is needed 10
development expenditure.

(¢) More debt is required o
subsidy schemes.

(d) ﬁlluftheahqw

sCs-1

finance

finance

g |9 staE (WTO)

m@aﬁﬂﬁimf‘eﬁaﬁ
e f=g Tt |

& oA
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51,

Capital Account of Balance of
Payments can include

(a) Loans
(b) Banking capital
(¢) Foreign investment

(d) All of the above

Who among the following described
t_he worldwide triumph of liberal

‘democracy as the “end of history” ?

(a) Bamir Amin
(b) David Held

{¢) Francis Fukuyama

(d) Samuel P. Huntington

Which ones of the following
are quantitative inflation control
methods ?

‘1. Bank Rate
2. CRR
3 SLR

4. Open Market Operations
(a) land4

(b) 1,2and3

(¢) 1lonly

(d) All of the above

51. I fefor 55 faodfaos afics

s HFET T AIEAEET

T&AT ?

{n]aﬂ'a

b Ha =g TF Ul (banking
capital)

() oot gy 7 feowt 28 wnud
s Bdt wad wE J°

(foreign investment)

@) Gug foxr 73

Iz fofm fed fam 5 B9 &9
(liberal democracy) €t WAT 59 fe9
fiz § fefsom & »3” =° R
=ges A3 T ?

tal wHtg »nfis

m 3fes T3

(¢) TITAN SFEHT

@ #ives ft, 3fdeares

s feofimit &9 fag3 yeT YA

(inflation) & Y FIE & AIEMSHI

(quantitative) IS T5 ?

1. Ha ¢ (Bank rate)

g, HL.wE.»E. (CRR)

3. WH.A 8.99. (SLR)

4 Gus wafae GUIHEE (open
market operations)

(a) 1m3 4

by 1,2 M3 3
(0 fAez 1

@ Bug for wa




‘54. Adam’s Bridge starts at 54. WEH ¥ U8 (Adam’s Bridge) 3

(a) Dhanushkodi e
(b) Mandapam (@) e
. | (b) HIUH
g (¢) V¥
(d) Rameshwaram (@) FHEEEH

(b) De-industrialisatior

(c) Colonisation of ecénomy
| |

(d) Monopolised Europeanisation

The Baglihar Project is on the river
(a) Chenab

(b) Jhelum

(e) Indus

(d) Kishanganga

Shale, from which shale gas is




58,

Ll

Which of the following towns was not

maek&d by Baba Banda Singh

Bahadur ?

(a) Kaithal

{h} Samana

(e) Bilaspur

(d}  Lahore

- Which is ot correctly matched ?

(a) Sukerchakia - Naudh Singh

(b) Nishan Walia — Dasaundha
Singh

(¢} Bhangi ~ Hari Singh

(d) Nakkai — Jai Singh

from Sikh history :

m correct chronelogical sequence of

Given below are four important events

1.  Chhota Ghallughara

2. The execution of Bhai Mani Singh

3. Vadda Ghallughara

4. The execution of Baba Banda
Singh

these events is

(a) 1,234

(b) 4,213

() 1,3,4,2

(d) 1,8,2,4

58. I3 it 729 fam wfis €3 g

ger fiw soves ¥ ower 5 e 0
(a) IEH

(b) HHTET

() fa8myg

“d) BT

59. I3 fofimrt fod faom iz vt 50

J?

(a) HATTAT ~ 3 fifur

b) feraedhrr - o fifw

(¢) 3aff - ot fiy
7 iy

(d) Bt -

2. FE Wat iyt goras
3. IF uigwar
4 "9 He fw gowg o




'61. Given below are the names of 4 cities
of Punjab :
1. Muktsar

2. Moga

3. Mansa

4. Malerkotla

Ifarrangadfmmwasttn'ﬂ}ﬁst,thg
correct sequence is

(a) 1,2,3,4
{h} 11."31:21 4

(d) 3,214

literature ?

(a) Bhai Veer Singh
(b) Puran Singh
(@) Dhani Ram Chatrik

63. _ damisbuilton Beas River.
(a) Bhakhra Nangal




‘highest female literacy rate as per

= District of Punjab has the

(@) Mohali
(b) Ludhiana
(d) Jalandhar

Which of the following statements

is/are correct ?

. Subir Gokarn will replace Rakesh
Mohan on the Executive Board of
the International Monetary Fund
(IMF).

2. Subir Gokarn will represent
India, Bangladesh, Sri Lanka and
Bhutan on the International
Monetary Fund's (IMF’s)
Executive Board.

3. Subir Gokarn’s name was cleared
by Appointment Committee of
Cabinet.

4. Subir Gokarn has been a Deputy

Governor at Reserve Bank of
India (RBI).

5. The Executive Board of the
International Monetary Fund

(IMF) is responsible  for
conducting the day-to-day
business of the IMF,

(a) 2,3, 4and5

(b) 2and 4

fe) 2, 4and5

(d) All of the above

64.

(A=21)

2011 AGIEET € wiUg I
8 e e whig frs (female
literacy) 79 3 20 & |

(a) Ha#t
(b) Sfowrar
(c) Tfimfayg
(d) ¥Sug

I3 for geat 185 fag3 7t 05 9
1. wEgTmedt &R & aup 2

fs@aft a7 (Appointment
Committee of Cabinet) & Hogd
e

4. pHY dage ufomt  IEd

fowse H3 ®BD T =fm
d=95d dfg 9 TF |
5. wIggwedt & &w (qmp) =

FIHAE HIF wE e A, @
IH-HTT 2 a0 IW B Fiew
Jeor T |

(a) 2,8,4 W3 5

(h) 2 %3 4

(€) 2,43 5

d) BT fod gy




88. Which of the following canals were

constructed as a part of the Triple
Canal Project that began in 1905 ?

1. Upper Bari Doab Canal
Upper Jhelum Canal
Upper Chenab Canal

o M

Lower Bari Doab Canal
1,2and 3
1,3and 4
{c) 2,3and4
(d) 1,2and4

67. The first freedom fighter to evolve
non-cooperation and use of swadeshi
as political weapons was

(a) Bal Gangadhar Tilak
(b) Mahatma Gandhi
(e) Satguru Ram Singh

(d) G.K. Gokhale
68. Consider the following statements :

1. MUDRA in an agency for
providing easy leoans upto
¥ 10 lakhs to micro and small
entrepreneurs,

2. SC/ST entrepreneurs will be

given priority in providing loans |

under MUDRA.

3. MUDRA is a development and

regulatory agency for medium
scale industry.
Which of the above statement(s) is/are
true ?

(a) 1 only
(bl 2and3
(e} 1and?2
(d) 3enly

SCS-1

66. Jz fofwt &8 fagdhr afosf
1905 feg wg I fi5-sfodt o
3faz g a7
1. »ug gt oW afag
2. WUJ HISH Bidd

3. nug 9&'" &fdg

4. Bwig g4 ong &fag
(a) 1,2 ™3 3

(b) 1,3 W3 4

(¢) 2,303 4

(d) 1,2 »3 4

67. &'-figeage w3 Aot & =33 §
o5 ufgsr wradt wedhar g
Ht 2
(a) U Ferug 3@
(b) HWIT=HT Fdt
(c) Wigalg I fRw
) ., s
68. I3 fou amat § femfonr 72 -
1. HES (MUDRA) 973 g w3

%%@aﬁauﬁw 10 BY U
Eﬁémmﬁaﬁm
oAt 3

2. wWegr 3fg3 F@H g
Feifent & ﬁeﬁmu:-ﬁw
uﬁaﬁé‘tﬁ@aﬁl

3. HE9T Hu-vgwr Beda ©
feam wa fadzes & fim
i 3

fexr sast fed faomufacs wh

TS 2

(a) fAIZ 1

(b) 2 W3 3

() 1m3 2

@) frAg= 3




4 &L‘m&ptemher 2015, India signed

Lajpat Rai was associated with
1 of the following newspapers ?

3-51 million loan agreement with
. Development Bank. The loan

ﬁﬂ}h uaad for upgrading tourism
(¢ in which of the

(a) 1,2and3

(c) 2,3and4

69. I fab »ywat S fag’ 55 g8
BHUS I T RET HI ?

1. afagd

2. e-yat

3. B¢ HIIH

4. =-Uhus

(a) 2,399 4

(b) 1,2 M3 4

€ 2M3 4

) Sud foli 713

70. 28 A3Ed 2015 § I3 & EHOE
feaw & (Asian Development Bank)
5% 12351 fdhis B9 € 99
wet feagraawr 3T | feg @
feg Fa-mre ot wferdt @9 §
feafirz w95 ot <gfan T2ar 2
1. Uae

2. fowes ugen

3. ¥y w3 IEHT

4. G393

(a) 1,273 3
(b) 1,2 %3 4
(¢) 2,8M3 4
2 W3 3




71. The Reserve Bank of India (RBD has
declared which of the following banks
as Domestic Systemically Important
Banks (D-SIBs) ?

1. Axis Bank

2. HDFC

8. ICICI

4. State Bank of India
(a) 1 and2only

{(b) 2and3only

(¢) 3 and 4only

(d) 1,2,3and4

79. Match List 1 and List 2 and select the

correct answer.
List 1 List 2
A. Namdhari 1. Davanand
Saraswati
B. Nirankari 2. Guru Balak
Singh
C. RadhaSwami 3. DyalDas
Arva Samaj 4. Shiv Dayal
A B CD
(s, 2 4 1
() & 2 3 1
() 2 3 4 1
@ 37 2 1
SCS-1

(A -24)

. 35 fou Hat fed fagt § fomee ¥

wz T ®BD & w3 froifsa

HIZ=YTS e (Domestie
Systemiically ~ Important — Banks
(D-SIBs) WBTEHT T 2

1. watam 1

9. wra.FtareH.

q,  nre], wf et H e,

4. Wz 53 wrE e
{n}ﬁ'ﬁ_l?a'l“'ﬂgz
) frAg= 273 3
(c) frag 32 4
@ 1,233 4

Wlﬂ%gﬁz?ﬁﬁﬁﬁﬁ@
it 92" 9<

Hoi 1 Ho 2
A. WU 1. SUTST AIHSS!
B fxdaft o g IS AW
o. gumeHt 3. fos €W
D. mEwHH 4. A2 fors

A B CD
ay 8 2 4 1
(b) 4 2 3 1
ez 8 4 1
d) 38 4 2 1




74.

”

%:l Gujarat

A person who is not a member of
Parliament can be appointed as a
Minister by the President for a
maximum period of

(@) 9 months

(b) 3 months

(e) 12 months

(d) 6 months

Consider the following countries :
Australia

Namibia

Brazil

Chile

Through which of the above does the
Tropic of Capricorn pass ?

(a) 1 only

(b) 2,3and4

(e) 1,2and 3

(d 1,2,3and4

A

The Tropic of Cancer passes through
of the following States ?

=

.31:"

e

4. Mizoram

73.

74.

75.

7 foradt e o wew s, Ong
greaudt =0 T To fds B =
HIdt fawas 39 maer § 0

(a) 9 HdTS

(b) 3 Wdt®

12 Hdis

d) 6udls

(e)

Iz fou @57 2 fegg 53 -
WASIHHT

St

qIHS

. fe®
W{’I‘mpﬁcufﬂapﬁﬂum}%&?
(a) fAoE 1

(b) 2,3M3I 4

(e) 1,23 3

id) 1,2,3m3 4

-

JYT (Tropic of Cancer) SWdt F 9

1. WIS
2. Tz
3. WMHH
4. fusew




ICa ||:-l|l1-.r'_" ;
e = e




79. The practice of appointing government
gervants from and by the political
parties victorious at the polls results

in

79.

Filibuster

Gerrymandering
Lﬂg-l.'ﬂnin'g

(a)
(b)
{e)

(d) Spoils system

B0. Transition Zone between two

ecosystems is called
{a) Eco-cline
(b)
le)

@

Eeo-tone
E-cad

Eco-barrier
81.

81. Due to improper disposal of used
computers, or their parts, which of the
following released into the

environment 7

{a) Beryllium and Cadmium

are

(b) Chromium and Mercury
fe) Lead
(d) All of the above

2.
82, Which factor most enabled Japan to .

rebuild and modernize rapidly after
World War 117

{a) Vast mineral reserves
{h,‘l Large amounts of fertile land
(c)

(d) A well trained workforce

A strong military

SCS-1 (A -27)

goe feu 43 fdt uadh® <8
w2 fed maadt wiftadt fawas
dAIagesedtdear

(a) fedlarcs

(b) WdtHsfFar

(c) STar-gfea

(d) AuTEse fAreH

@ Hafarert fegas ufseess =8
fega § &t afde T8 2

(a) HEISES

(b) s

(¢) das

) 9 &g

w93 J¢ dfufes w3 BuF ¢
far-uafe® ¥ @w3 foued
(disposal) &9E I four I3 o5

fag3 33 =3=q= fev Tw® J 7%
J5 |

EEmng vz i
FaHH W3 Hdadt
83

tug fou wo

(a)
(b)
(e)
(d)

gd feme ¥u 3 e AU €
Gt w3 wufsdlass 3 &8
Je = gae Hl

(@) Yfew uoge & gg3fes

b) Suwg wHts & wsgafes

(c) WaSHET BF

(@) deft 3g° fAy I8 aH




SCS-1

Which of the following are Indian
endangered fauna ?

(a)
(b)
(e)
(d)

(Gangetic dolphin
Baleen whales
Wild dogs

All of these

Silent Valley, the biodiversity hotspot
15 situated in

(a) Mumbai
(b)
(e} Kerala

(d) Karnataka

Uttarakhand

Fundamental Duties were
incorporated in the Constitution on

the recommendation of
(a) Shah Commission

(b} Administrative Reforms

Commission
(¢) Santhanam Committee
(d) Swaran Singh Committee

In which of the fallowing categories of
protected areas in India, the local
people are not allowed to collect :ms!:
use the biomass ?

{a) Biosphere reserves
(b) National parks
(e) Wetlands

(d) Wildlife sanctuaries

{A=28)

I fou gadt sfe-dan &9 faoz
W39 29 (endangered) T5 ?

(a) dtex 35fEs

b) HHlE T

(c) wordl &2 (wild dogs)

@ Qug fau 79

ffeq TEHUE (biodiversity hotspot)
Fréi8e &8 fam few &

(a) ﬂﬂ'@

b) FIIEE

(c) Eri
(d) dTHEH

Afegs  fem  Afss  F@IR

(Fundamental Duties) fag &

freran 2 HIHS a2 I 9

(a) T‘T’UW

(b) UIHTHES qUg atHEs
(Administrative Reforms
Commission)

() WeTEH SHel

(d) ﬂ?ﬁ'ﬁﬁ'ﬂﬁiﬁ

I fou onft-ais H3T' e

it ¥ g 28 mees B 6

T2 uTTE (biomass) B w3 TJIT

ot wirfamr B 2 2
Wﬁﬂm ﬁﬂiﬁ:‘ (biosphere

reserves)
) arEedt @‘flﬁ l’nlmlmll parks)
(¢) =83 (wetlan

(dy Hargdt Fﬂi W (wildlife

sanctuaries)




87. The Dinesh Goswami Committee was
concerned with
(a) De-nationalisation of banks
(b) Electoral reforms
(¢) Anti-Defection measures
(d) Higher education

| 88, The Supreme Court of India tenders
advice to the President on a matter of
law or fact

f (a) on its own initiative
(b) only if he seeks such advice
(e} only if the matter relates to the
Fundamental Rights of the
citizens
(d) only if the issue poses a threat to
the unity and integrity of the
& ) country

89, The members of the Constituent

ssembly  which  drafted the
stitution of India were
nominated by the
§ ent

British

Governor

by the

by the Legislative
\ssemblies of various provinces
(d) elected by Indian National
| Congress and Muslim League

87. foom dwmenft aidt = meu faw
&% Ht 2
(@) €' T THedleEs § d€ q9BT
(De-nationalisation of banks)
(b) T HU'T (Electoral reforms)
© uB-ufgzazs fuge  Qu
(Anti-defection measures)

@ € fifime

88. 93 &t pudly e Tds 7 IW 2

HHS 3 gHeauH § A8 e ot

o

(@ wy ufos gaa

(h) ITB THIIUF T AST Hae

(c) o=5 H WHB T HYU Fafag
¥ Wisg wiffgs’ & weg
gy 3 I

(d) I=S § HHE oF. = wpdsg
w3 gafr s vz 32 3

89. 93 T Hfzws fous =zt
Afeuss Ag 2 Hast §
(a) HIIBE HAE & SHae I
Ht

(b) TLTET AGIS & FHAC HIT
=il :

(¢) Hfemft it feus wae &
gfenr

d) fEfmis BEas FEET wWI
Hrfey dlar 5 gfewr




(¢ Mub
@ Fazilka

91. Punjab shares roug
of International h _-.:'Z

(a) 553
(b) 682
(c) 366




§CS8-1

The area for

Match List 1 and List 2 and select the
correct answer.

List 1
Loo L.
Kal Baisakhn 2.

List 2
West Bengal
Kerala
Tamil Nadu
Rajasthan

Mango Showers 3.
Winter Rainfall 4.

oS 0o®m >

A B D
(a) 4 1
(b)
(e

(d)

N -
B Co

= L e
L &
[

which land-use
classification data can be obtained is

called

(a)
(b)
(c)
(d)

Reporting area
Cultivable area
Recorded area
Productive area

Sun traverses 1 degree of longitude
every minutes.

(a) 6
(b) 8
te) 15
(d) 4

Assuming that the Earth is a perfect
sphere, one degree of latitude would
cover approximately how much
distance on the Earth ?

(a) 111km

(b) 151 km

() 201km

(d) 360 km

(A-=31)

93. Fdt 1 w3 gt 2 T WG FI€ JE

Rt 7Y 9E ¢
o7 1 Fat 2
AT 1. JaHt gars
B. a8 St 9 FIB
C. Har eI 3. 3B &3
D. i Et S9F8 4. THRES
A B CD
(a) 4 1 2 3
b 1 2 4 3
) 3 4 ¥y 2
7. I e N

fm U39 © st =93 ¢ sodflaes
2 nitgg ofis i3 77 mae 95 69

& ot gfde 95 2
(a) @92 wdls U3TF (Reporting
area)

(b} ¥t a1 439 (Cultivable area)
(¢) ¥ad 3T YT (Recorded area)
(d) SuAT@ ¥3F (Productive area)

1 fsadt &3 (longitude)
ot fuser few ydt age
T
(a) 6
(b) 8
(e} 156
d 4

7 adt § feg Auge d ¥is wEe
= 1 feardft »ER® (latitude) TIH
€3 margar a8t gt ydt g9t 9 2
(a) 111km
(b) 151 km
() 201 km
(d) 360 km




o7, 'ﬂuaﬁmkonl’mrlﬂarbmnhympﬂ
during World War 11 was aimed at |
neutralizing ______ and preventing i




99. Which of the following statements are
true about the recently test-fired
Barak-8 missile ?

1. Barak has been jointly developed
by India and Israel.

9. Itis a surface-to-surface missile.
3. I;Lhasamngeafﬂﬂlmm.

{a) 1,2and3

(b) 1and 2 only

(c) 2and3only

(d) 1and 3only

100. In Eastern Europe, after World War I,
the greatest obstacle to national unity
in many nation states was the

(a) Great ethnic diversity found in
the region

(b) Economic dependence of Eastern

Eurcope on Japan
{¢) Acceptance of  democratic
tradition by most Eastern
(d) Expansion of United ‘States’
influence in the region

scs-1

feg fqoz vt T3 ?
. wE § 993 w3 fewuels 3
g5 3 feafrz v I |

(a) 1,_2??@' 3

@ frag 23 3
@) frag 1 »3 3

100. ufas feme wu 3 gwE Y99 G
fog gHedt ¥ = RS 3 &
yrfas " -

(@ fem fem & 7t 837

b SR gy F AV &3
wirafee faggasT

© witEss yae Gaft ¥W <5
Saanft gefes § AR F96

@ fem ¥99 feu gedifes WeH
2 ygre v femms &

(A -33)

a0 T
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